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１ 次の式を因数分解しなさい。 

① 𝑥2 − 25           ② 
249 a          ③ 94 2 x  

 

 

 

 

④ 
22 81yx            ⑤ 

22 6425 ba         ⑥ 22

9
1 yx   

 

 

 

 

２ 次の式を因数分解しなさい。 

① 442  xx           ② 25102  xx         ③ 64162  xx  

 

 

 

 

 

④ 𝑥2 + 14𝑥 + 49        ⑤ 𝑥2 − 12𝑥 + 36       ⑥ 100202  xx  

 

 

 

 

 

 

７ 次の式を因数分解しなさい。 

① 144 2  xx          ② 16249 2  xx        ③ 4𝑡2 − 20𝑡 + 25 
 

 

 

 

 

④ 42025 2 x          ⑤ 16𝑎2 + 40𝑎 + 25    ⑥ 498436 2  xx  

 

 

 

 

 

因数分解② 
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